Accounting 311  Spring 2004  Midterm Exam.  Name _____________________________________


Unless specified otherwise, all questions are worth 4 points.  For multiple-choice questions, circle the best answer.

1. On April 15 a distraught employee, Bob Heavyfoot, backed his truck into your main plant and destroyed the plant and all of its contents.  Fortunately, certain accounting records were kept in another building.  Therefore, you know the following for the period January 1 to April 15, 2004:


Revenues
$500,000


GM (% of revenues)
25%


Direct materials purchased
$170,800


Direct Materials, 1/1/2004
$21,000


Work-in-Process, 1/1/2004
$17,000


Finished Goods, 1/1/2004
$7,000


Conversion Costs
$244,200


Cost of Goods Avail. for sale
$386,000


Conversion costs equal 60% of total mfg. cost during the period.


What was the cost of Finished Goods inventory destroyed?


What was the cost of Work-in-Process inventory destroyed?


How much Direct Materials inventory was destroyed?

2. All of the following are true EXCEPT that indirect costs


A. may be included in prime costs.


B. are not easily traced to products or services.


C. vary with the selection of the cost object.


D. may be included in manufacturing overhead.

3. At a breakeven point of 200 units, variable costs total $400 and fixed costs total $600.  The 201st unit sold will contribute how much to profits?  (6 pts)

4. What is the correct journal entry if $57,000 of direct materials and $4,000 of indirect materials are sent to the factory floor?

5. How many units would have to be sold to yield a target operating income of $22,000, assuming variable costs are $15 per unit, total fixed costs are $2,000 and the unit selling price is $20?

6. The breakeven point decreases if 

A. variable cost per unit increases.


B. total fixed costs decrease.


C. contribution margin per unit decreases.


D. selling price per unit decreases. 

7. How is the “margin of safety” defined in the textbook?

8. When a greater proportion of operating costs are fixed, then


A. a small increase in sales results in a small decrease in operating income.


B. when demand is low then risk of loss is high.


C. when demand is high the breakeven point is increased.


D. a decrease in sales reduces the cost per unit.

9. How does an increase in the income tax rate affect the breakeven point?

10. Wilson Company uses normal costing and direct labor hours to allocate mfg. overhead to jobs.


For 2003, Wilson budgeted 1,200 direct labor hours (actual was 1,100).  Wilson also budgeted $60,000 indirect mfg. costs.  (10 pts.)


Ending $ balances in selected accounts are:

Materials—control 
$  3,000

Work-in-process
10,000

Finished Goods
20,000

CoGS
170,000

MOH—control
45,000


Below provide the journal entry to write off the difference between allocated and actual overhead using the proration approach based on ending total $ balances and close the overhead accounts.

11. In class we discussed four ways to fix the under- over-allocated problem at the end of the period.  Which approach do most companies use?  Why?

12. What can cause product-cost cross-subsidization?

13. Assuming that you are using a traditional cost system, what are two signs that you may need to change/modify/refine your cost system?

14. The UNIQUE feature of an ABC system is the emphasis on


A. costing individual jobs.


B. department indirect cost rates.


C. multiple cost pools.


D. individual activities.

15. A well designed ABC cost system helps managers make better decisions because information derived from an ABC analysis


A. can be used to eliminate nonvalue-added activities.


B. is easy to analyze and interpret.


C. takes the choices and judgment challenges away from the managers.


D. emphasizes how managers can achieve higher sales.

16. Cocoa Pet Corporation manufactures two models of grooming stations, a standard and a deluxe model. The following activity and cost information has been compiled. (12 pts)



Number of
Number of
Number of


Product
Setups
Components
Direct Labor Hours

Standard
3
30
650


Deluxe
7
50
150


Overhead costs
$20,000
$60,000


Assume a traditional costing system applies the $80,000 of overhead costs based on direct labor hours. 


a.
What is the total amount of overhead costs assigned to the standard model?


b.
What is the total amount of overhead costs assigned to the deluxe model?


Now assume that an activity-based costing system is used and that number of setups and number of components are identified as the activity-cost drivers for overhead. 


c.
What is the total amount of overhead costs assigned to the standard model?


d.
What is the total amount of overhead costs assigned to the deluxe model?

17. ZVEREVA Beverage, Inc. uses the weighted-average method of process costing.  Direct materials in the Bottling department are added at the end of the process.  Consider the following data for the Bottling Department of ZVEREVA for the month of January:

	
	Physical Units
	Direct Materials
	
	Conversion Costs
	

	WIP, Jan.1
	57,000
	$0
	
	$64,125
	

	Started or work done in Jan.
	600,000
	
	
	
	

	CTO
	
	
	
	
	

	Cost added in Jan.
	
	$1,260,000
	
	$915,300
	

	WIP, Jan.31
	27,000
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	


Jan.  1  degree of completion:  CC 90%

Jan. 31 degree of completion:  CC 85%

Fill in the table below:  (in $)  [18 pts.]

	
	DM
	CC
	TOTAL

	CTO   

	
	
	

	E.WIP


	
	
	

	TOTAL


	No points
	No points
	


18. How does the accounting treatment for Abnormal and Normal Spoilage differ?

19. The Gangwere Company has assembled the following data pertaining to certain costs that cannot be easily identified as either fixed or variable.  Gangwere Company has heard about a method of measuring cost functions called the high-low method and has decided to use it in this situation.




Month
Cost
Hours



January
$40,000
3,500



February
24,400
2,000



March
31,280
2,450



April  
36,400
3,000



May
44,160
3,900



June
45,400
3,740

What is the estimated unit variable cost (slope coefficient)?

What is the estimated fixed cost (constant or intercept)?

What is the estimated total cost at an operating level of 2,850 hours? 

20.
An inaccurate cost function with a slope coefficient that is estimated too low may MOST likely result in


A. predicting total costs that are too high.


B. initiating cost cutting measures when they are unnecessary. 


C. evaluating a weak manager as having strong performance.


D. promoting a product that is actually more profitable than budgeted.

21. Schmidt Corporation produces a part that is used in the manufacture of one of its products.  The costs associated with the production of 10,000 units of this part are as follows:



Direct materials                
$  45,000



Direct labor                      
65,000



Variable factory overhead         
30,000



Fixed factory overhead            
70,000


      Total costs                     
$210,000

Of the fixed factory overhead costs, $30,000 is avoidable.


Phil Company has offered to sell 10,000 units of the same part to Schmidt Corporation for $18 per unit.  Assuming there is no other use for the facilities, should Schmidt make or buy from Phil?  Why?


Assuming no other use of their facilities, what is the highest price that Schmidt should be willing to pay for 10,000 units of the part?

22.
Relevant costs in a make-or-buy decision of a part include 


A. setup overhead for the manufacture of the product using the outsourced part.


B. currently used manufacturing capacity that has alternative uses.


C. annual plant insurance costs that will remain the same.


D. corporate office costs that will be allocated differently.

23.  Define “opportunity cost.”  (2 pts)

1. On April 15 a distraught employee, Bob Heavyfoot, backed his truck into your main plant and destroyed the plant and all of its contents.  Fortunately, certain accounting records were kept in another building.  Therefore, you know the following for the period January 1 to April 15, 2004:


Revenues
$500,000


GM (% of revenues)
25%


Direct materials purchased
$170,800


Direct Materials, 1/1/2004
$21,000


Work-in-Process, 1/1/2004
$17,000


Finished Goods, 1/1/2004
$7,000


Conversion Costs
$244,200


Cost of Goods Avail. for sale
$386,000


Conversion costs equal 60% of total mfg. cost during the period.


What was the cost of Finished Goods inventory destroyed?


CoGS = (1-.25) * $500,000 = $375,000


Ending FG Inv. = GAS – COGS = $386,000 - $375,000 = $11,000

What was the cost of Work-in-Process inventory destroyed?


CoGM = GAS - Beg. FG Inv. = $386,000 - $7,000 = $379,000


Costs added to WIP this period = CC/0.6 = $244,200 / 0.6 = $407,000


End. WIP Inv. = $17,000 + $407,000 - $379,000 = $45,000

How much Direct Materials inventory was destroyed?


Direct materials used = Total mfg. cost – CC = $407,000 - $244,200  = $162,800


Direct materials destroyed  = $21,000 + 170,800 - $162,800 = $29,000
2. All of the following are true EXCEPT that indirect costs


A. may be included in prime costs.


B. are not easily traced to products or services.


C. vary with the selection of the cost object.


D. may be included in manufacturing overhead.

3. At a breakeven point of 200 units, variable costs total $400 and fixed costs total $600.  The 201st unit sold will contribute how much to profits?  (6 pts)


At 200 units, revenues = $1,000 and USP = $5.  UVC = $400 / 200 = $2 / unit.  


Therefore, UCM = $5 – 2 = $3.

4. What is the correct journal entry if $57,000 of direct materials and $4,000 of indirect materials are sent to the factory floor?


Work-in-Process Control
$57,000


Mfg. Overhead Control
4,000



Materials Control
$61,000

5. How many units would have to be sold to yield a target operating income of $22,000, assuming variable costs are $15 per unit, total fixed costs are $2,000 and the unit selling price is $20?


(2,000 + 22,000) / 20 – 15 = 4,800 units
6. The breakeven point decreases if 

A. variable cost per unit increases.


B. total fixed costs decrease.


C. contribution margin per unit decreases.


D. selling price per unit decreases. 

7. How is the “margin of safety” defined in the textbook?


It is the difference between budgeted (or actual) revenues and breakeven revenues.

8. When a greater proportion of operating costs are fixed, then


A. a small increase in sales results in a small decrease in operating income.


B. when demand is low then risk of loss is high.


C. when demand is high the breakeven point is increased.


D. a decrease in sales reduces the cost per unit.

9. How does an increase in the income tax rate affect the breakeven point?


It does not!

10. Wilson Company uses normal costing and direct labor hours to allocate mfg. overhead to jobs.


For 2003, Wilson budgeted 1,200 direct labor hours (actual was 1,100).  Wilson also budgeted $60,000 indirect mfg. costs.  (10 pts.)


Ending $ balances in selected accounts are:

Materials—control 
$  3,000

Work-in-process
10,000

Finished Goods
20,000

CoGS
170,000

MOH—control
45,000


Below provide the journal entry to write off the difference between allocated and actual overhead using the proration approach based on ending total $ balances and close the overhead accounts.


Budgeted MOH rate = $60,000 / 1,200 = $50/DLH


Allocated MOH = $50 * 1,100 = $55,000


Therefore, OVERallocated $10,000


WIP = 10/200 = 5%


FG = 20/200 = 10%


CoGS = 170/200 = 85%


MOH—allocated
$55,000



CoGS

$  8,500



FG

1,000



WIP

500



MOH—control

45,000

11. In class we discussed four ways to fix the under- over-allocated problem at the end of the period.  Which approach do most companies use?  Why?


Direct w/o to CoGS; easy and does not make a material difference for them.

12. What can cause product-cost cross-subsidization?


Cost smoothing or peanut-butter costing—using broad averages assign cost.

13. Assuming that you are using a traditional cost system, what are two signs that you may need to change/modify/refine your cost system?


Managers do not use/trust current systems output.


Get jobs you expect to not and visa versa.


Your process has changed but cost system has not.


You have increased (intense) competition.

14. The UNIQUE feature of an ABC system is the emphasis on


A. costing individual jobs.


B. department indirect cost rates.


C. multiple cost pools.


D. individual activities.

15. A well designed ABC cost system helps managers make better decisions  because information derived from an ABC analysis


A. can be used to eliminate nonvalue-added activities.


B. is easy to analyze and interpret.


C. takes the choices and judgment challenges away from the managers.


D. emphasizes how managers can achieve higher sales.

16. Cocoa Pet Corporation manufactures two models of grooming stations, a standard and a deluxe model. The following activity and cost information has been compiled. (12 pts)



Number of
Number of
Number of


Product
Setups
Components
Direct Labor Hours

Standard
3
30
650


Deluxe
7
50
150


Overhead costs
$20,000
$60,000


Assume a traditional costing system applies the $80,000 of overhead costs based on direct labor hours. 


a.
What is the total amount of overhead costs assigned to the standard model?



($80,000 / (650 + 150)) x 650 = $65,000


b.
What is the total amount of overhead costs assigned to the deluxe model?



($80,000 / (650 + 150)) x 150 = $15,000

Now assume that an activity-based costing system is used and that number of setups and number of components are identified as the activity-cost drivers for overhead. 


c.
What is the total amount of overhead costs assigned to the standard model?



Setups: $20,000 / (3 + 7) = $2,000



Components: $60,000 / (30 + 50) = $750



($2,000 x 3) + ($750 x 30) = $28,500

d.
What is the total amount of overhead costs assigned to the deluxe model?



($2,000 x 7) + ($750 x 50) = $51,500
17. ZVEREVA Beverage, Inc. uses the weighted-average method of process costing.  Direct materials in the Bottling department are added at the end of the process.  Consider the following data for the Bottling Department of ZVEREVA for the month of January:

	
	Physical Units
	Direct Materials
	
	Conversion Costs
	

	WIP, Jan.1
	57,000
	$0
	0
	$64,125
	51,300

	Started or work done in Jan.
	600,000
	
	630,000
	
	601,650

	CTO
	630,000
	
	630,000
	
	630,000

	Cost added in Jan.
	
	$1,260,000
	
	$915,300
	

	WIP, Jan.31
	27,000
	
	0
	
	22,950

	Total $ =
	
	$1,260,000
	
	$979,425
	

	
	
	
	$2.00 /eu
	
	$1.50 /eu

	
	
	
	
	
	


Jan.  1  degree of completion:  CC 90%

Jan. 31 degree of completion:  CC 85%

Fill in the table below:  (in $)  [18 pts.]

	
	DM
	CC
	TOTAL

	CTO   630,000

	$1,260,000
	630,000@$1.50 =

$945,000
	$2,205,000

	E.WIP  0 : 22,950

	$0
	22,950@$1.50 = 

$ 34,425
	$34,425

	TOTAL


	No points
	No points
	$2,239,425


18. How does the accounting treatment for Abnormal and Normal Spoilage differ?


Abnormal spoilage is expensed in the period detected while normal spoilage becomes part of the cost of the product (CTO and TI cost) and is expensed in COGS when sold.

19. The Gangwere Company has assembled the following data pertaining to certain costs that cannot be easily identified as either fixed or variable.  Gangwere Company has heard about a method of measuring cost functions called the high-low method and has decided to use it in this situation.




Month
Cost
Hours



January
$40,000
3,500



February
24,400
2,000



March
31,280
2,450



April  
36,400
3,000



May
44,160
3,900



June
45,400
3,740

What is the estimated unit variable cost (slope coefficient)?


b = ($44,160 - $24,400) / (3,900 – 2,000) = $10.40



What is the estimated constant (intercept)?


$44,160 = a + $10.40 (3,900) 


a = $3,600
What is the estimated total cost at an operating level of 2,850 hours? 


y = $3,600 + $10.40 (2,850) = $33,240

20.
An inaccurate cost function with a slope coefficient that is estimated too low may MOST likely result in


A. predicting total costs that are too high.


B. initiating cost cutting measures when they are unnecessary. 


C. evaluating a weak manager as having strong performance.


D. promoting a product that is actually more profitable than budgeted.

21. Schmidt Corporation produces a part that is used in the manufacture of one of its products.  The costs associated with the production of 10,000 units of this part are as follows:



Direct materials                
$  45,000



Direct labor                      
65,000



Variable factory overhead         
30,000



Fixed factory overhead            
70,000


      Total costs                     
$210,000

Of the fixed factory overhead costs, $30,000 is avoidable.


Phil Company has offered to sell 10,000 units of the same part to Schmidt Corporation for $18 per unit.  Assuming there is no other use for the facilities, should Schmidt make or buy from Phil?  Why?


  Make the part, as this would save $1 per unit.


Avoidable costs total $170,000 = $45,000 + $65,000 + $30,000 + $30,000.


$18 - $170,000/10,000 = $1


Assuming no other use of their facilities, what is the highest price that Schmidt should be willing to pay for 10,000 units of the part ?


$45,000 + $65,000 + $30,000 + $30,000 = $170,000
22.
Relevant costs in a make-or-buy decision of a part include 


A. setup overhead for the manufacture of the product using the outsourced part.


B. currently used manufacturing capacity that has alternative uses.


C. annual plant insurance costs that will remain the same.


D. corporate office costs that will be allocated differently.

23.  Define “opportunity cost.”  (2 pts)


The (net) benefit foregone by not choosing the next best alternative.

-14-

